ECE 270 Introduction to Digital System Design Spring 2019

Lab Quiz 12

; : . ; 5 (,T’ 0 C 4~ 12 Cs

The following chart applies to the questions on this quiz. E/ A0 9 |v
A [A0BiBo| 2 JClZ|N|V N 15—
0lo0]Jo|oO|@®=B |1]1]0]0 (M A
ojoflo[1|@<®|olo[1]o0 R ER e Era
0|o[1]0|@A<®|olo[1]1 i pd] e 5
O 01| 1](A)<B|0]0]0]0 A 1% ;f" A e I
o100 ®>m® | | Y] O]V
o|l1]oj1]w@w=@|1]1]0]0 7 | oz 7'
ol 1]1]ofl@w<®|]olo]1]1
o111 lw<®|o]o|1]1 GTE C’ e
11olololw>@®|1]/0[1]0 "5 1°A 1%?% 1 v
110]lof1]@®w>B® |1]/0|/0]1 ) i / ;‘
1]ol1]olw=@ |1]1]0]0 AP AP ) S|
Tlo0[1 |1 |A<®|0olo]1]0 il It | N
1T 1]lolol@®>@® |1]ol1]0 a7 A | o
1[1]Jo[1]@>@]1]o][1]0 N e i T
11 1]11]0]@>® | 0 e v
11111 1]@®=B|1]1]0]0 —

VA Z VA

1. The “blank entries” should be filled in with the binary combination:
T ——

A) 0100 () 0110 «C) 1 000) (D) 1100  (E) none of these

—

2. The type of magnitude comparator depicted in this chart is:
(A) one’s complement (B) two’s complement ((Cm@‘« (D) none of these

3. The function for “A equals B” (Fa=B) can be expressed as:

(A) Fass=C f@) F@* (C) Fase=N (D) Fa=s =V (E) none of these

4. The function for “A less than B” (Fa<g) can be expressed as:
(A) Fae=C
(1B) Fas =l
C) Fase=C-Z'
(D) Fae=C'+Z
(E) none of the above

5. Thefunetion-for “A greater than or equal to B” (Fa=8) can be expressed as:
(A) Fae=C )
(B) Fass=C'
(C) Fax=C-Z
(D) Faxs=C'+Z
(E) none of the above
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